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General Instructions :
(1) This question paper contains three parts A, B and C.

(it)  Part A is compulsory for all candidates.

(1it) Candidates can attempt only one part of the remammg parts
B and C. '

(iv) All parts of the questions should be attempted at one place.

Wﬁé’ﬂ:
i) TWITIF AT G Y FIFEE - F T I T
(i) 9T % T BE % fow sHard § 1
(i) qﬁ&rﬁ%ﬁaﬁ@wwawﬁv##ﬁwwwm?/
Gv) 59 399 & @t 9 & IW 0F § W W 6w |

PART A
(Accounting for Not-for-Profit Organisations, Partnership Firms
and Companies)

i
(ITEMWEHTR WIS, RSN WAl qen Wil & g erEie)

1. List any two main sources of income of a Not-for-Profit organisation.

& FAVEN TR H o F R @ ym die & gE SRy |

2. State the provisions of Partnership Act 1932, in the absence of a
partnership deed regarding (i) Interest on Partner’s Drawings and
(ii) Interest on Advances other than Capital.

RN 9@ & 7 B W (1) SRR F ARl W @S a9 (i) 3 (fh %
) W e & fovy o gl afufrem 1932 & wEuE SRy |

3.  Give any one difference between reconstitution of a firm and
dissolution of a firm.

mﬁ%wﬁwa&rﬁ%wﬁﬁéwwml

4. How does the nature of business affect the goodwill of a firm ?

A H T 59 TR @ 0 & o # o e § 2

5. - Give the meaning of ‘Registered Capital’ of a company.

TH FA B Goipa o H a1 T
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From the following information of a club, show the amounts. of Prize |
awarded and Prize Fund in the Financial Statements of the club for
the year ended on 31°° March 2009 and 31°° March 2010 :

Details Amount

E4
Match Expenses 3,00,000
Match Fund 1,70,000
Donation for Match Fund 90,000
Sale of Match Tickets 25,000

frafafad g € T% 9 & 31 A" 2009 997 31 W 2010 FF UG B4
T FH QPR G 9 GO W H A A foei foewl # ewiww

faeror , T
, 4
iy =y ' 3,00,000
9y — A 1,70,000
¥y fify ¥ e eF - 90,000
g fomel &1 fomg 25,000

Jain Ltd. purchased machinery ¥ 10,00,000 from Ayer Ltd. 50% of the
payment was made by cheque and for the remaining 50% the company
issued Equity shares of ¥ 100 each at a premium of 25%.

Pass necessary journal entries in the books of Jain Ltd. for the above
transactions.

9 fa 3 sR fA. ¥ T 10,00,000 F WY FF H | 50% F TEE 9% FR
far T T ;W 50% H PEE T 100 TAE® % Hal 7%, N 25% & Hfwm
R fifag foear mar o, & 50 e w1

SWRE AT & g A9 fo. @ g stavEs A sfafvEr S |

P Ltd. redeemed its 360, 9% Debentures of ¥ 100 each, which were
issued at a premium of 5%, by converting into Equity shares of ¥ 10
each, issued at a discount of 10%. Pass the necessary journal entries in
the books of P Ltd. for the redemption of debentures.

9. fa. T 100 Y% & I9T 360, 9% FUH, R 5% & Mymm W fifia
f&ar T a1, &= MEd T 10 ¥O% & gEar i, R 10% &% sz W frifa fer

i ﬁm%mmlmawﬁmé;mﬁﬁﬁﬁgﬁaﬁﬁm

U= wfafear sifse |
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- 9. Ram and Shyam were partners in a firm. After crediting the profits of
the year ¥ 2,00,000 in their Capital Accounts, the balances of their
capital were Ram ¥ 4,00,000 and Shyam ¥ 3,00,000. During the year
Ram withdrew ¥ 80,000 and Shyam ¥ 1,00,000. It was found that
interest on Capital and Drawings @ 10% p.a. as provided in the
partnership agreement had not been allowed and charged to the
partners capital accounts. Pass the necessary adjustment entry.

9 997 799 TF B § WERR & | aY @ A ¥ 2,00,000 I S @t ¥ e
FA F U 39 S Wl & 9% U9 T 4,00,000 7 AW T 3,00,000 ¥ | &
F RF T 7 T 80,000 T4 T F T 1,00,000 F 0T FFAT | F¢ I gam b
TR gorg # fuife §Sft 99 oot W 10% ¥R &Y s SERnl & 9sh @
¥ 7 S fFr T SR A AW A T | ovevds geEeH yafy ifvw |-

10. J and K are partners in a firm. Their capitals are J T 3,00,000 and K
¥ 2,00,000. During the year ended 31.3.2010 the firm earned a profit of
% 1,50,000. Assuming that the normal rate of return is 20%, calculate
the value of goodwill of the firm :

1) By capitalisation method and

(ii)) By super profit method if the goodwill is valued at 2 years
purchase of super profits. o

S TM K. UH EBH F WEER § | e ¢t BT 8 ¢ S T 3,00,000 99 .

% 2,00,000. 31.3.2010 & ¥ TC a8 § ®H 4 T 1,50,000 F T FURT | Tg

T gU 6 A @ W R 20% 7, W & enfa st o S

() ST &Yy g am

(ii) ﬁwﬁamﬁwﬁwwﬁw%aaﬁ%m%aﬂmm
fapan e 2

11. Pass the necessary journal entries for the issue and redemption of

Debentures in the following cases

(i) 15,000, 10% Debentures of ¥ 100 each issued at 10% premlum
repayable at par.

(i)  6,00,000, 12% Debentures of ¥ 500 each issued at 5% premium,
repayable at 10% premium. '

W@W%W@W%mwmmm

@ 15,000, 10% v T 100 Y& & fHieT 10% $fFem ® gen, s 99e
W Y|

(i)  6,00,000, 12% ®o9F T 500 Y& & fHimA 5% WfrEH W ogen, =
10% Hfma | 37 4 1
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12. From the followmg items of Recelpt & Payment A/c of Bharti Club for
the year ended 31.3.2010, prepare an Income and Expenditure

Account : | 6
3
Salaries paid : m
Lighting expenses | 15,000
Stationery 13,500
Subscriptions received (including X 2,000 received in o
advance and T 8,000 for the previous year) 1,40,000
Net proceeds of Refreshment Room 91,000
Miscellaneous Expenses 24,000
Half year’s interest paid on loan | 2,400
Rent and Retes (including ¥ 1,500 pre-paid) 15,000

Lockers Rent received 6,700
Additional Information : |

Subscriptions in arrears on 31.3.2010 were T 9,000 and half year S
interest on loan was also outstanding.

31.3.2010@@@@@3&%@%%%%@@%@%@@
BN W Y G a9 S WA dAR HEY ‘

Z
S | 15,000
LERIEH 13,500
w7 T geT (3 2,000 &M 9ar % 8,000 feet ad & feq wfwfad)  1,40,000
FEIH T8 § S : 91,000
fafas =@ | 24,000
0T R ST T¥ F o B P R » 2,400
fiean qar et (X 1,500 AW e wfewd) 15,000
i R wftd 6,700

Sifals =T -
31.3.2010 ﬁmm%%oomwmmwﬁaﬁwmaﬂ%awr
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13'

14.

Pass the necessary journal entries for the following transactions on the
dissolution of the firm of R and L after the various assets (other than
cash) and outside liabilities have been: transferred to Realisation
Account :

1) R paid creditors ¥.17,000 in full settlement of their claim of
Z 20,000. ‘

(i) L agreed to pay his wife’s loan ¥ 70,000.

(iii)  Stock ¥ 40,000 was taken over by R for ¥ 39,000.

(iv)  Other assets realised ¥ 39,000.

(v)  Expenses of realisation ¥ 4,900 were paid by L.

(vi) Loss on dissolution ¥ 9,000 was divided between R and L in the
ratio of 3 : 1.

fafay gofedl (Ys & offafih) oo 9@ SFaRl & agel O § ©Eakd s &

TEM MR, A9 UA. W FH F famed ¥ wy fefafen ol & e emevre

st sfefet ST

(i) ®R 7 ¥ 20,000 F FRR F @ & Pl AW @EI T 17,000 F EE
fear |

(i) A A AT TN W OET T 70,000 F P FA B HEEfA R

(iii) 3. 7 T 40,000 & =iF & T 39,000 ¥ o f&Fam |
(iv) &= gufedl § % 39,000 99 T |

(v) T 4,900 FYEH G w POH A A T

(vi) ¥AMA W % 9,000 F T F e IR T TA. H 3 : 1 F U A
fear T | '

On 1.1.2007 a Public Limited Company issued 5,000, 10% Debentures
of ¥ 100 each at par which were repayable at a Premium of 10% on
31.12.2011. On the date of maturity, company decided to redeem the
above mentioned 10% Debentures as per the terms of issue, out of
profits. The Profit and Loss A/c shows a credit balance of ¥ 6,00,000 on
this date. The offer was accepted by all the Debenture-holders and all
the Debentures were redeemed.

Pass the necessary journal entries in the books of the Company only
for the redemption of Debentures, if the Company follows Sec. 117 C
of the Companies Act.
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13. Pass the necessary journal entries for the following transactions on the
dissolution of the firm of R and L after the various assets (other than
cash) and outside liabilities have been. transferred to Realisation

Account :
(1) R paid creditors ¥ 17,000 in full settlement of their claim of
T 20,000. ‘

(il) L agreed to pay his wife’s loan ¥ 70,000.

“(iii)  Stock ¥ 40,000 was taken over by R for T 39,000.

(iv)  Other assets realised ¥ 39,000.

(v)  Expenses of realisation ¥ 4,900 were paid by L.

(vi) Loss on dissolution ¥ 9,000 was divided between R and L in the
ratio of 3 : 1.

fafow wrafall (T & i) oo o Saael &) agel @ § wuEaia s %

TR SR, 99 TA. F W F fomed & umy frefafen oA & faw stevasw

s yfEmeT Sy

(i) #R 4 T 20,000 F AW F A & qUT AW @WET I 17,000 FH TAH
feam |

(i) WA A TN F OEOT T 70,000 FFAE A H GgA o |

(iii) @R, 3 T 40,000 F RiF & T 39,000 ¥ & foram |

(iv) = ¥faEl § ¥ 39,000 I gT |

v) T 4,900 IgH G F TOH T A A

(vi) W99 R T 9,000 FH 7 F foweT IR 7O TA. H 3 : 1 & A
ferar Ta | |

14. On 1.1.2007 a Public Limited Company issued 5,000, 10% Debentures
of ¥ 100 each at par which were repayable at a Premium of 10% on
31.12.2011. On the date of maturity, company decided to redeem the
above mentioned 10% Debentures as per the terms of issue, out of
profits. The Profit and Loss A/c shows a credit balance of ¥ 6,00,000 on
this date. The offer was accepted by all the Debenture-holders and all
the Debentures were redeemed.

Pass the necessary journal entries in the books of the Company only
for the redemption of Debentures, if the Company follows Sec. 117 C
of the Companies Act.
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1.1.2007 & TF HEs& fafies & 7 5,000, 10% FOT9 #, ST 100 Y&
F 9, frefew wqer W, fS9e eF 31.12.2011 F 10% HfF=w @ & a1 1
Mew fafy @ WRowaa | S 3 3w 10% T H e @ owdt & STER
aE H W MEE W W ol fa | 3w e wee & ae-e e § o9 o9w
Z 6,00,000 91 | TE H T TOOE-ORE@ T WiER W A 9w ool wmewt e
e e T

FA FH GETH W HAE WO & UEA S EvAS s SEE S, A
HHO R BT ST E O 117 €. @ ST e S €

15. Hema Ltd. invited applications for issuing 30,000 Equity shares of
¥ 100 each at a premium of ¥ 20 each. The amount was payable as

follows : v |
On Application and Allotment ¥ 40 (including premium ¥ 10)

per share

On First Call ¥ 50 (including premium ¥ 10) per share

On Second and Final Call — Balance
Applications for 75,000 shares were received. Applications for 15,000
shares were rejected and the money received from them was refunded.

~ Shares were allotted on pro-rata basis to the remaining applicants. All
calls were made. A who had applied for 2,000 shares failed to pay the
first call and second and final call on the shares allotted to him. B who
was allotted 1,000 shares failed to pay the second and final call. The
shares of both A and B were forfeited. The forfeited shares were re-issued
at T 160 fully paid. ,
Pass necessary journal entries in the books of the company for the above
transactions. 8
OR

Shakti Ltd. invited applications for issuing 1,00,000 Equity shares of
T 10 each. The amount was payable as follows :

On Application ¥ 3 per share

~ On Allotment ¥ 2 per share

On First and Final Call ¥ 5 per share
Applications were received for 2,20,000 shares. Applications for 20,000
shares were rejected and their application money was refunded. Shares
were allotted to the remaining applicants as follows :
1) Allotted 50% shares to Raman who had applied for 40,000 shares.
(ii) To allot in full to Akbar who had applied for 20,000 shares.
(iii) To allot balance of the shares on pro-rata basis to the other

applicants.

67/2/1 7 - P.T.O.



Excess application money was utilized in payment of allotment and final
call. All calls were made and were duly received except the first and final
call on 600 shares allotted to an applicant in III category. His shares
were forfeited. The forfeited shares were re-issued for ¥ 9 per share fully
paid up.

Pass necessary journal entries in the books of Shakti Ltd. for the above
transactions.

27 f1. 9 T 100 Y% & 30,000 AT W H T 20 W ofw & Hww W Frifam
FH & fo oaed WbE T | T & W M YR § % a1

EET T4 e W T 40 (X 10 Hfem wfea) wfa ofw

Wmm?m(?lo:ﬂmaﬁa)qﬁrm

T @ afem JEa W — 9
75,000 379 & faw mEeT W= gL | 15,000 N % fAw emaeH @ w® W e
T TN T STEEA! & T WW SR Hoamw R fed T | WY EeE &
AOfae SER W iR F A foam T |l AEAn A oW w1 % e
ZOOOW%WWWWHEWWWWWEEWHW
dfem T F PEE T8 W g | @, 1,000 s @ e fwr m@r o,
7 gHd T W A @ A T R | % a9 | QA+ A A W @
WWIwmmmﬁm?moqﬁmﬁaﬁqﬁmwwm
[CRIBEIN

méaé#%mwﬁﬁwﬁﬁwﬂwmml
T .
Wi fo. 9 T 10 ¥9F & 1,00,000 Goar 79 & frime & faw swaew emafm
fFw | O #1 FRE TR w9
ameged W T 3 wfa 8w
3eied W T 2 9id 3«
TH q A< I | T 5 w379
2,20,000 37 & faw omaeT W g 1. 20,000 ¥ & AT RS # ® W
fean o IIw STEed U e W & ME | WY svece w3 H eEed fam
YR 9 fRar mam
(i) T F 50% I H dEeT A T, 39T 40,000 AW & fAu snaen fmaw
ar |
(i) o & 9 smafed sivl = w@ed fem WA, SWA 20,000 SR % fAw
aTgeq famar ar |
(i) o SfFl F AIWF YR W = SAGH & F@fed fpar = |
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HAfoRe e U1 & STEM s WX a < T= AW F g & fag
Cfem om0 o gEead A e v gar I S0 % Uw 3w W siEel, N
600 3T &1 stEed fFay T @, Wt W B U | 3Y IYeEs 4 ¥YW aur =
T F PE T8 R | 3Ed o @ W W famw T | s e moste

# % 9 ¥ siw ool wew gF fifsd & fer o

IR A o AU WG fA N gl § stevas Uswren vt S

16. S and T were partners in a firm sharing.profits in the ratio of 7 : 3.
Their Balance Sheet on 31.3.2010 was as follows :

Amount Amount
Liabilities 4 Assets T
Creditors 40,000 | Bank 36,000
Bank overdraft 20,000 | Debtors 46,000
General Reserve 10,000 | Less Provision 2,000 44,000
Capital Accounts : Stock 50,000 |
S 50,000 Machinery 30,000
T 40,000 90,000 -
1,60,000 1,60,000

On 1% April, 2010 they admitted R as a new partner for 1/4™ share
in profits on the following terms :

(L) R will bring ¥ 30,000 for his capital and ¥ 10,000 for goodwill

premium.

(ii) 20% of general reserve will be transferred to provision for bad
and doubtful debts.

(iii) Stock and Machinery will be depreciated by 40%.

(iv)  Capital accounts of :S and T will be adjusted on the basis of Rs
capital, for this purpose actual cash will be brought in or paid off
to S and T as the case may be.

Prepare Revaluation Account, Partners Capital Accounts and Balance

Sheet of the firm.

67/2/1
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A, B and C were partners in a firm sharing profits in the ratio of 2 : 1 : 1.
Their Balance Sheet as on 31.3.2010 was as follows :

Amount - Amount

Liabilities T Assets 3
Capital Accounts : Furniture 9,000
A 10,000 Stock 4,000
B 5,000 - Debtors 6,000
C 5,000 20,000 | Bills Receivable 2,000
General Reserve 3,200 | Cash at Bank 5,000
Creditors 3,000 | Cash in hand : 200
26,200 26,200

On 30.6.2010 C died. Under the provisions of partnership deed the
executors of a deceased partner were entitled to the following :

(1) Amount standing to the credit of partners capital account.
(i1) Interest on capital @ 5% p.a.

(iii) Share of goodwill on the basis of two years purchase of the
average profits of last three years.

(iv) - Share of profit in the year of his death, till the date of his death
on the basis of the last year’s profit.

The profits of the firm during the previous three years were as

follows :
Profit
Year 3
2007 — 2008 5,000
2008 — 2009 9,000
2009 — 2010 7,000

C’s executors were paid I 1,800 on 1.7.2010 and the balance in three
equal instalments of equal intervals of 6 months starting from
31.12.2010 with interest @ 10% per annum.

Pass necessary journal entries, at the time of C’s death, prepare C’s
Capital Account and C’s Executor’s Account upto 31.12.2010.

67/2/1 10



Tq. 7 . T B GEER F ow 7 3 % oud ¥ @ ated 4 1 31.3.2010
& A ffa e 9 TR § o1 ¢

et Tfa ' Tfr
z Tofe . 4
TR 40,000 | 3% 36,000
S srfufad 20,000 | TR 46,000
BIEUE SRR 10,000 | ¥T ST 2,000 | 44,000
ISt T | ©IE 50,000
T§. 50,000 ENiCH 30,000
. 40,000 90,000
1,60,000 1,60,000
1 3, 2010 F SR @ F 1/4 T F T IR A A T@ W TF T MR
S

(i) &R T 30,000 I St & faw d9r T 10,000 TG Siftem & fog @ |
(i) 9mF 99 & 20% S9q RN & A N9gF # Eiakd fFar S |
(i) & T AN W 40% F7 GEIg T S |
(iv) TE 0 & & IS @A B SR, FOYST & YR W gurRife R s,
feafd oER 39S fT @, a@ & ¢ V% A A1 3% 999 e
ST | |
TR T, ek & Ot @ aar 9w w fufq faaver semT
e

F, AN GH H RCR 4 a9 2:1: 1% 3qUE § o Sied 9 1 31.3.2010
@ I e faeer 79 ger o1 -

4 T
goft @ TR 9,000
% 10,000 % 4,000
T 5,000 - | &R 6,000
T 5,000 | 20,000 | = f¥a 2,000
TR g 3,200 | UFE % & 5,000
TR | 3,000 | I%T T 200
26,200 26,200
67/2/1 | 11 ' P.T.O.




3062010aﬁvméaﬁﬁw1q@mqé@%ma@%wwq@m
& frsaeat ® e <7 o

() WEER % § @Q % 9 |

() I W 5% ¥q o F W § A |

(i) wnfa § 35 9w fred dF auf & sigd @ & < O & MUR W |
(iv) Fg & a8 ¥ Sus g & fofT q% suw o & ofv, fioa af % @ &

IR T | (
froer 99 a9 § o & @ B eR a1
wt T
2007 — 2008 5,000
2008 — 2009 9,000
2009 — 2010 7,000

T % sl #1.7.2010 S T 1,800 N PTEE HX AT T G4 99 FH QA
T TR erg-afie e § 10% afvs =99 9fed 31.12.2010 § IE &

e S | .
T H G & WY EvEs U wfafEd FIN, T & fS @ eaRe o %
feqes &1 @Il 31.12.2010 T TR HIT |

PART B

(Financial Statements Analys1s)
T g
(faitg faawon &1 fayeo)

17. State the interest of trade wunions in the analysis of financial
statements.

fadta foreront & favomor # gffs @i & f&d & Ia=T |

18. State with reason whether the withdrawal of cash from bank for office
use will result into inflow, outflow or no flow of cash.

FROT Gfed IaRY 5 w1 9F 9 FEfag sE & O Isg & fFerm @ U6 @)
TG, W A8 YAl HIE YR T @ | |

19. State any two objectives of preparing a ‘Cash Flow Statement’.

UVFg TOE fHa0r a9 & HE  ]TYI TARC |
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20. With the help of the following information obtained from the books of
Raj Silk Mills prepare a Comparative Income Statement for the year

ended 31.3.2010 :

31.3.2009 31.3.2010
Sales 200% of cost of goods sold | 300% of cost of goods sold
Cost of goods sold < 10,00,000 £4 12,00,0007
Operating expenses | 10% of cost of goods sold | 20% of cost of goods sold
Tax 50% 50%

wmmﬁv@wqwﬁmﬁﬁaﬁmﬁmﬁmwowaﬁ
W@W?W\}WWWW

31.3.2009 31.3.2010
fosha 3D T A H AN F | 99 T A & A & 300%
200% % TR & TR |
3= TR TE F ArE % 10,00,000 % 12,00,000
s=wn oY I T A B AR F 10% | 99 M AW AT B 20%
R 50% 50%
21. Calculate Current Ratio of a company from the following information : 4
Stock Turnover Ratio : 4 times |
Stock in the beginning was ¥ 20,000 less than stock at the end.
Sales ¥ 6,00,000 :
Gross Profit Ratio 25%
Current Liabilities ¥ 60,000
Quick Ratio 0-75 : 1
Frafafed go @ ©F & & A6 ST H O FINY
Wi arad o ;4 o
R Wi, o ®id | T 20,000 FH o |
fesa T 6,00,000
Fhel oMY AT 25%
e A T 60,000
Tl FaT 0-75 ¢ 1
67/2/1 13 P.T.O.




22, State under which major headings the following items will be shown
in the Balance Sheet of a company as per Schedule VI Part I of the
Companies Act 1956 : 4

Interest accrued on investments; Bills receivables; Prbposed dividend;
Unclaimed dividend; Work-in-progress; Bills payable; Stores and spare

parts; Provident fund.

st sfufEm 1956 & g VI 9w I & SgER S % Refg fewor §
frafafaa 7 fFa-fer 7o widel & ol gl SmaW |

el W WIS (STe) =, W faar; ywanfaa ensir, o < e, s g
W, I faor; 9 aur sfafe o afas Ay |

23. From the following Balance Sheets of Varun Ltd. as on 31.3.2009 and

31.3.2010, prepare a ‘Cash Flow Statement’ : » 6
31.3.2009| 31.3.2010 31.3.2009 | 31.3.2010
Liabilities T 3 Assets Z 4
Creditors ' 50,000 45,000 | Cash 35,000 75,000
Bills Payable 20,000 35,000 | Debtors 98,000 90,000
Bank Loan — 20,000 | Stock 87,000 { 1,20,000
Profit and Loss A/c 60,000 75,000 | Long term 15,000 10,000 |
investments
Share Capital 1,25,000 | 1,50,000 | Fixed assets 20,000 30,000
2,556,000 | 3,25,000 ‘ : 2,565,000 | 3,25,000

Additional Information :

(1) During the year ¥ 15,000 depreciation was charged on fixed
assets. '

(i)  Company has paid ¥ 12,000 interim dividend during the year.
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17.

18.

19.

20.

21.

31.3.2009 T 31.3.2010 F 9% fo. & Frefafed fofy fawh ¥ 9% TR

feeror s

31.3.2009| 31.3.2010 31.3.2009 | 31.3.2010
g 2 3 | z N
TR 50,000 | 45,000 | %S 35,000 | 75,000
% fow 20,000 | 35,000 | &TaN 98,000 | 90,000
S — 20,000 | €% 87,000 | 1,20,000
SIESIERCIG 60,000 | 75,000 | S Frawr 15,000 | 10,000
afer gt 1,25,000 | 1,50,000 | T@r wwfal | 20,000 | 30,000

2,55,000 | 3,25,000 2,55,000 | 3,25,000

(i) aﬁﬁwﬁrwﬁ@m?m,oodwmmﬂ

(i)

(Computerised Accounting)

What are block codes ?
wave frmmEfaat e & 2

What is data validation ?

PART C

AqWT T
(i erEie)

HAiFe (SRT) FehEoT FT § 2

What is a ‘report’ in DBMS ?
gaTE. # wifeae @ g ?

What is a join line in DBMS ?
SdmeE ¥ e Y@ A wed § 2

List the advantages of DBMS.
FaaTE & ol w ghas HI |

67/2/1
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22. What are the limitations of Computerised Accounting System ? 4
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23. Calculate the formula on Excel for the following : ' 3Ix2=6
Dearness Allowance _
45% on basic pay upto ¥ 15,000, minimum ¥ 5,000
35% on basic pay above ¥ 15,000, minimum ¥ 7,500

House Rent Allowance

Upto basic pay of ¥ 10,000 . ¥ 3,500
% 10,001 - 15,000 basic pay : % 7,500
Above T 15,000 basic pay : ¥ 10,000

City Compensatory Allowance :

10% of basic pay subject to a minimum of % 1,500
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T 15,000 T & Td dad W 45%, = T 5,000

T 15,000 ¥ 3% & 9 a0 W 35%, <AaH T 7,500
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% 10,000 &% & qT dad & faq : ¥ 3,500

¥ 10,001 — ¥ 15,000 % & T 909 & fag ¢ ¥ 7,500
T 15,000 § 3% & o a4 & fag . T 10,000
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